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OR (3121a1)

What is OLEDB ? Explain.

AU 3 S A Fr e L ? aarer e

8.  What is HTML ? Explain 4 tags of HTML.

6
T A WUTTRL ? T ST T & aR
S BT qui< B |

OR (3121a1)

What is DHTML ? How is it different from HTML.

ST THUT TR ? UE UF < UH UA
q DY 3ol 2|

9. What are the elements of user interface ? Explain
them. 6
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Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR (3121an)
Design 'Edit menu using Menu Editor and write
code for options cut, copy and paste.

A WUTGdh &I ITINT Had FuIfad s° A7
feomaa & 3R Qb de, Bl 3R Ue &
fou as ford |

Why is VB called event driven programming

language ?
4

4l @1 sdc darfera AT 99T R BT
SITdT 8 ?

OR (3121a1)

What is a tool box ? Explain any three important
controls of tool box.

<ol die T © ? codiad & fedl W =
Hedyul AT &1 AT W |

Describe the three important elements of a visual
basic control with one example of each. 4
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(i)

(iif)

(iii)

(iv)
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.................. ST ST I¥G3M, [N 3R
faftrat & 9R ¥ A @ fog fear
SITar 8°

(@1 »rf damse fast

(3) ®rs Hurcs fast

(W) Ifsliae qTSoR

() Swiad F & B T

In visual basic a variable name cannot be
more than ............. characters

(a) 255

(b) 300

(c) 355

(d) 400

fagjarar af® A, v a) &1 am quil
A 31f¥re ) 8 "adr 2 |

(31) 255

(@) 300

(|) 355

(=) 400

In visual basic ............... is the extension to
represent project file.

(a) .frm

(b) .vbp

(c) .cls

(d) .vb
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() . =T &1 SUAT SRE
gyafRRfa & @ feru fear s 2,
dfes Suahreal g9 e 92 95
AP |
(31) o qfqw
C)IRGEGEEIE
(|) fore dfad
(]) »uTS 9T

GROUPB

Answer all Five Questions.
i ufg gl @ SR T |
2. What is ADO ? Briefly describe any three of them.

4
U S d e ? day # S 9 fedfy =

T qof DY |

4x5=20
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(vi)

(vii)

(vii)

(viii)
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................. BISdl &I Ub HIT 2 |

The method, which loads the form into
memory and displays it on screen is .
(a) Load

(b) Show

(c) Display

(d) All of these

fafer, s wrd & AN ¥ 1S BIAT B
3 38 I W yeldfd &l 2, @
............... 2|

(\) fegeat
() 3 af

.................... is the process of finding and
removing errors.

(a) Checking

(b) Compiling

(c) Debugging

(d) Quick watch
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s 9 I fagara wfeel ansg 1 3
$T Y& °cd 8l © ?

(31) JET TEEEIRR

(@) <o d9ied

(|) URY 3

(%) feoma= fasi

Which property determines whether a control
is displayed to the user ?

(a) Hide

(b) Show

(c) Visible

(d) Enabled

i A giudt fFeifRa oxdl 2 fo
Syaral & fou ve =T yefRfa
fpam s ?

(@) sEs

(@) =

(=) fafsrae

(]) goldcs

In .o, window we write code.
(a) Immediate Window

(b) Locals Window

(c) Code Editor Window

(d) None of these

NT6014

(x)

(xi)

(xi)

(xii)
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T I AT BT AdAd 2 |

(31) wediud SiFgH=< F<WdH
(@) acdlua fSoiE $<XBd
(|) wyacs SiRA—< <y
(]) 99 feuim g+ <4

The default data type for VB is ............
(a) Integer

(b) Decimal

(c) Variant

(d) String

ff ff & fov Rviee SRy ... 2|
(31) 3R

(@) sHwa

(6) aRg=

() R

Frame control acts as a ............
(a) Event

(b) Method

(c) Class

(d) Container
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10.

YORR 3SXBH & dcd T 8 ? & 9IS |

OR (3121an)

What is an IDE ? Describe its different components.

e ST R ? IUD AT dedl BT qUi
B |

Compare List Box and Combo Box.

foree diqw 3R Sl dfdd B T R |

OR (3121a1)

Explain the difference between
(a) Private Sub and Public Sub

(b) Function and Procedure

frfafaa @ 9= sfav wuse &
(®) ytdd< 99 3R ufecT® w9
(@) B 3R YiReR
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10.

YOIk 3SXBH & dcd AT & ? & A |
OR (3121d1)

What is an IDE ? Describe its different components.

e AT TR ? IUD AT dcdl BT quiA
Y |

Compare List Box and Combo Box.
foree dfaw 3R Sl e B T a |

OR (3121d1)

Explain the difference between
(a) Private Sub and Public Sub

(b) Function and Procedure

fa=iferRaa @ €9 far wse &
(@) yrgde w9 AR ufecds w4
(@) waaa IR giiorR
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